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e Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 29 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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Q=T 3397 :
G) gl @vel & @4t yeT AT & |
(i) U9 I97 & [HEIRT 3% 349 qrgd R 1 §

(iii)  T97 G&IT1 - 3 TUT 15 - 19 371a TLHRIHE 97 &, 5770 J% H7 1 375 8 |
59T Yo &1 I Uk JTaFT H 57 37957 8 |

(iv) To7 G&IT 4- 8 37K 20 - 22 TLHIHE 97 8, [5770 T35 & 3 3% & |
Jed%h &1 I GIHTIT: 60 Isq] & 37fer 787 17 w5y |

(v) I TEIT9 - 10 37K 23 - 25 Y} TLHRIHS 97 &, 15777 I4% & 4 3% & |
e T I GHTE: 70 VI5e] & 37fere 787 8141 =iey |

(vi) 97 G&IT 11-14 3R 26 - 29 FI5 ITIcHS 97 &, 578 I9% & 6 3%
g | Y 7 I GrETa: 100 5] & 3718 787 8147 FifeT |

(vii) I GIET TIT FIIHSF &7 TNRT TIT IIEYTT FT &1 T Iog a7 & SFld
&7 few S Tifw |

General Instructions :
(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each question.

(iii)) Questions No. 1 - 3 and 15 - 19 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv) Questions No. 4 -8 and 20 - 22 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Questions No. 9 — 10 and 23 - 25 are also short-answer questions

carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) Questions No. 11 - 14 and 26 - 29 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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SECTION A

1.  SuAIfmar i aRum dNT | 1
Define utility.

2.  3fc a%g Y i hmd # g ¥ avg X &I 711 Fedl 7, q@l Fl a&qT o o T8
araey g : (T fashew i) 1
(31)  afceerd

(F) T
(@) Gratya T8l
(3) TH @Y | I JH AT

If with the rise in price of good Y, demand for good X rises, the two goods
are : (Choose the correct alternative)

(a)  Substitutes

(b)  Complements

(c) Not related

(d)  Jointly demanded

3. U IJUNIHT ol o TEGI B U L 8 | AR ST A Tk a&g i HAa
it 2, @ emfeomm a5k« (wd fashew giw) 1
() W I AR fggerar g
(&) = e fagedr 2
(@) W R A= gH AR Rawes gohdl @
(3) & Ragerar 2

A consumer consumes only two goods. If price of one of the goods falls,
the indifference curve : (Choose the correct alternative)

(a)  Shifts upwards

(b) Shifts downwards

(c) Can shift both upwards or downwards

(d)  Does not shift

58/2/1 3 P.T.O.
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4. RO §dd gY, TEfctRad difcisht T STeTid IcaTe |HTEHT o5k o HThR T

feoquf shifsr 3
T X (3519 TG Y (3HE)

0 4

1 3

2 2

3 1

4 0
Giving reason, comment on the shape of Production Possibilities Curve
based on the following table :

Good X (units) Good Y (units)

0 4

1 3

2 2

3 1

4 0

5. ‘g9 fen A 1 AR SieeaaE % 3cUed HWIEHT I W R YU
TS TR T 2
YT

A | §¢ T T foceft I6ft o o & IcuTe HUTaHT Jsh T T THTE 98 hi
ST 2 3R AT 2 3

What will be the impact of “Education for All campaign” (Sarv Shiksha
Abhiyan) on the Production Possibilities Curve of the Indian economy
and why ?

OR

What will likely be the impact of large scale inflow of foreign capital in
India on Production Possibilities Curve and why ?

58/2/1 4
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6. qfd S W A o A ok AY IS GH-19% (plus sign) HT T H [T H
S w= & "9 o H1Y FOL-FU% (minus sign) &1 ST 8T @ ? HHEATST | 3
Why is minus sign attached to the measure of price elasticity of demand

of a normal good in comparison to the plus sign attached to the measure
of price elasticity of supply ? Explain.

7. T QU STERT SR H HHT % T H ITU § qME T AT A H T HA H
IS BRI TET § | TH TorIoer 1 Hew HHeET | 3

There are no barriers in the way of firms leaving or joining industry in a
perfectly competitive market. Explain the significance of this feature.

8.  Afeehan shima fraier @ w1 AW 2 2 9W=Ia: $6 fohe YR 1 aEgsli ™
AT ST B ? @I 3l 3T HIfT, | 3

What is maximum price ceiling ? On what type of goods is it normally
imposed ? Use diagram.

Fig:  HElcIRad ge FacT GIvE ahemidEar & g IvT G 8 & T WE |

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 8.

f¥repan hmd feior it =an fmd i & = 7@ gusmsy | 3

Explain the difference between maximum price ceiling and minimum
price ceiling.

9. U JUNRAI T avg W, ! hmd T 4 9fd P 8, T 400 T HT 7 |
e hed ® 25 Siawrd i gig Bt 7, @ Wi 98 T 400 & =9 w1 7 | Ufava
fafa gro 9 6t Hma = @ R | 4
A consumer spends ¥ 400 on a good priced at ¥ 4 per unit. When the
price rises by 25 percent, the consumer continues to spend ¥ 400.

Calculate the price elasticity of demand by percentage method.

58/2/1 5 P.T.O.
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10. YA & 1 ARIR g 2 Teheilehl TIId T Teh &g <l YA W T a1ell
J9TE qHETST |

HAAT

qfd @ 9fEds & F1 AT B 2 Tk avg W B M 1 3Teh! Ifd T T8
dTAT 919 9HSA1ZT | 4
What is supply ? Explain the effect of technological progress on supply of

a good.

OR

What is ‘change in supply’ ? Explain the effect of tax imposed on a good
on the supply of the good.

11. T IUMRHT hadl ¢ a&gell 1 UM Al 8, T hl hivd Th &9 Ufd
IHTE 7 | A IUMRET T Seqatt o1 T | AT & foeht Eiwma wfoeemrm
T 28, A FIT IJUNIHT dqed § 8 2 SRl 4w | gmemse vE feufs o e
foraehl SuviRT &R S |

AYAT
U JUNIRAT hadl al aegell X 3R Y &1 U9 Haar 7, Teht FHod e
T 2 3R T 190 3hE 7 | AR MR T St ST T WA gaT | o
X 61 €t I 4 3R Y 1 off 4 8, A1 1 3U9RA 9gad H ® ? RO
Afsn | omemge vE feafa o e faad Susier #=n wom | diwE e
v <1 3w Aifs | 6

A consumer consumes only two goods, each priced at Rupee one per unit.

If the consumer chooses a combination of the two goods with Marginal
Rate of Substitution equal to 2, is the consumer in equilibrium ? Give
reasons. Explain what will a rational consumer do in this situation.

OR
A consumer consumes only two goods X and Y whose prices are ¥ 2 and
¥ 1 per unit respectively. If the consumer chooses a combination of the

two goods with marginal utility of X being 4 and that of Y also being 4, is
the consumer in equilibrium ? Give reasons. Explain what will a rational
consumer do in this situation. Use Marginal Utility Analysis.
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12. UiEdl TgUTl & =M & $od 3cqred o ged 4 fafie =7 a8 | e =1
& M8 SR it AT | TErfe =1 3= K | 6

What are the different phases in the Law of Variable Proportions in
terms of Total Product ? Give reasons behind each phase. Use diagram.

Fig:  HkiRad ge7 FacT GIRET aheTidEr & g IvT G&7 12 % T W8

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 12.

T HEATCH IS0 1 TEEdl § Nad oqural & e % e Scared &
ey 7 faftr =wor 9amsy | g¥s = & diw o | S | 6

State, on the basis of numerical example, the different phases in the
Law of Variable Proportions in terms of Total Product. Give reasons
behind each phase.

13. T 3IUIGh hl Tt ohl Il o I TohIER THSATET | 6

Explain the rationale behind the conditions of equilibrium of a producer.

14. T %] 1 9N Ggad | 7 | 9 h 7 # “Ffl” ot 2 | 39 gfedq &
HRUT B Il THTET hl ST@eT FHST | 6

Market for a good is in equilibrium. Demand for the good “decreases”.
Explain the chain of effects of this change.

Qus d
SECTION B

15. ‘O9Yy {1 % IS & Uk Fdmsy | 1

Name any two components of ‘aggregate demand’.

16. I Ewid 3UWRT Yg = 0, T[0T 1 oI I8 &1 : (Fa! fasheq ) 1
(31) 0
®) 1
(@) 03N 1% =
(3) o=
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17.

18.

58/2/1

If MPC = 0, the value of multiplier is : (Choose the correct alternative)
(a) O

(b) 1

(c) Between 0 and 1

(d)  Infinity

THH Sofe | rrfies H1eT $Heh ek B : (T fashew gfiw)
(31) =S YraE

(¥) <IN YA — 38R

(") SYUN — a1 YdH

(3) Swieh o & IS T

Primary deficit in a government budget equals : (Choose the correct

alternative)

(a) Interest payments

(b)  Interest payments less borrowings
(c) Borrowings less interest payments

(d) None of the above

ST g hiH-9T TS =39 & ?

(1) W @l

(@) SuRE

(|) i wgmEa

(3) i srfemEn W o

Which one of these is a revenue expenditure ?
(a)  Purchase of shares

(b)  Loans advanced

(c) Subsidies

(d) Expenditure on acquisition of land

8
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19. 1 9d q@ad & W 9 faesit gg1 @&t gl g, a1 P A W Ig I9 4
Ugd <t HuTaAT 7 (T faerew gfw) 1

() HhNRIcHS

(9) ThRIcHS
(d) hWIHS d THNIHS SHI
(%) IS yumE &

Other things remaining the same, when foreign currency becomes
cheaper, the effect on national income is likely to be : (Choose the correct

alternative)

(a)  Positive

(b)  Negative

(c) Positive and negative both

(d) No effect

20. 3fg Hifgesn dohet T 3G = T 4,400 T T e (IMER = 100) = 110,
I ITEdfreh Hohed ST IcUTE kT Uiehed hiIfST | 3

If the Nominal Gross Domestic Product = ¥ 4,400 and the Price Index
(base = 100) = 110, calculate the Real Gross Domestic Product.

21. YTAH Ggod o@l § WRA (W) oFed 3R URISH gq oFed % 31

ATy |
T

YA FgoH o@l § SR Fdea 3R <o @ 9gad o 379 Jasy | 3

o

Give the meanings of ‘autonomous’ transactions and ‘accommodating
transactions in the Balance of Payments Accounts.

OR

Give the meanings of Balance of Trade and Balance on Current Account
of Balance of Payments Accounts.
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22. IV SATd §T GHSATSY foh WA Fde @l H foeRni =l faam T g gl &
[ERISICIRN 3

Giving reasons explain where charity to foreign countries is recorded in
the Balance of Payments Accounts.

23.  HdId Seh h1 TEHN hH1 S HE GHIATST |
HAAT
31T S 1 Sehi I I HTE THIATT | 4
Explain ‘Government’s Bank’ function of the central bank.

OR

Explain ‘Bankers’ Bank’ function of the central bank.

24, W UH F1 HEd & b ATUST o g1 T Yol Hd & 9 g7 I8 Wl FHad &
Tor Tt ST S T THAT (RN heg[F Soh bl & ? THSATSY | ITUST Sehl
TR0 HgT G 1 TP AT T R YHE T8 hl GHEAT § 2 4

Why do we say that commercial banks create money while we also say
that the central bank has the sole right to issue currency ? Explain.
What is the likely impact of money creation by the commercial banks on
national income ?

25. Teh JNYIAEYT Tdod H g | et 8 €mma s=a Yaia &1 aiehad $ife ;. 4
TS 3T = 1,000
TR I9UNT = 100
fas = = 200

An economy is in equilibrium. Calculate Marginal Propensity to Save
from the following :

National Income = 1,000
Autonomous Consumption = 100

Investment Expenditure = 200
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26. RV FdTd gC FHIATSY foh T 3T 1 IAE ad Ty HefaRad % @y
ERIRCLIERIRSICIRC] Fi 6

(i) T ®H g M &R 1 Pram
(i) Ueh hREH TR ¥ 39N & fo7u wef wliean
(iii) e TafercaTe™ gr1 @1 o foe e @lie

Giving reasons explain how should the following be treated in
estimation of national income :

) Payment of corporate tax by a firm
(i1)  Purchase of machinery by a factory for own use

(iii)  Purchase of uniforms for nurses by a hospital

27. ‘Fhifasri a0 € Fa1 AfHE 2 ? SfErd Aepdl flY dTa hi 39 ST Wl

H | fiehT FHSET |
AAAT
‘HATE 7T W FAT ANAE B 2 3H IR Hl P B H IR Freeh rvams
I yfienT FHATST | 6

What is ‘inflationary gap’ ? Explain the role of Cash Reserve Ratio in
removing this gap.
OR

What is ‘deficient demand’ ? Explain the role of ‘Margin Requirements’
in removing this gap.

28, THIfthRl 3R SEHITaRi TR § TS H TehR] S1e ohl Y{Heh THSST | 6

Explain the role of government budget in fighting inflationary and
deflationary tendencies.
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29. ‘SN HITd W Thal T 3cq1g qAT A feheh 3T Yiehictd shifTT :

(i)  Hlgll qer ddH

(i) ST L

(iii) JETe TR

(iv) Afaf@ e

(v) Tasment gr ST et oimeH
(vi) T

(vii) faesn =t fraet &R
(viii) ofheh TS T

(ix) Taa e+

(x)  oT=d Yol T ITHA

(xi) Ta-FEfoar 6 i sm
(xii) Il

Calculate the Gross National Product at Market Price and Personal

Income :

1) Wages and salaries

(i1))  Personal tax

(iii) Operating surplus

(iv)  Undistributed profits

(v)  Social security contributions by employers
(vi)  Corporate tax

(vii) Net factor income to abroad
(viii) Personal disposable income
(ix) Net indirect tax

(x)  Consumption of fixed capital
(xi) Mixed income of self-employed

(xii) Royalty
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